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Question 1

Question Type: MultipleChoice

What can you assume about Ethernetl in this output from a 7150-24 that have been configured with the tap aggregation mode exclusive
command?

Student-l#sho int status

Port Name Status Vlan Duplex Speed Type

Etl errdisabled 1 full 40G 10GBASE-SEL

EtZ errdisabled 1 full 10G 10GBASE-SEL

Et3 errdisabled 1 full 10G 10GBASE-SEL

Etd errdisabled 1 full 10G 10GBASE-SEL
Options:

A- Ethernetl is broken.
B- Ethernetl has a QSPF interface.
C- Ethernetl is an Agile Port.

D- Ethernetl will not work with Tap Agg.



Answer:

B

Question 2

Question Type: MultipleChoice

With two switches in an MLAG domain, which of the following commands is a legitimate way to make interfaces on one of the peers part
of mlag 43?

Options:

A- Peer-1(config-if-Po43) #mlag 43
B- Peer-1(config-if-Et43) #mlag 43
C- Peer-1(config-if-V143) #mlag 43
D- There can only be 32 MLAGs on a switch, so MLAG 43 is impossible.

Answer:

A



Question 3

Question Type: MultipleChoice

True or False; you should disable Spanning-Tree on the Arista MLAG peer link VLAN?

Options:

A- FALSE
B- TRUE

Answer:

B

Question 4

Question Type: MultipleChoice

What physical interface is always a layer-3 interface on an Arista switch?



Options:

A- The USB1.: port
B- The console
C- The management interface

D- This question makes no sense

Answer:

C

Question 5

Question Type: MultipleChoice

Which of the following are valid commands on EOS 4.14? (Choose three.)

Options:

A- show run all



B- show run diffs
C- show run sanitized

D- show run section <regex>

Answer:

A B, C

Question 6

Question Type: MultipleChoice

Arista Switches employ which of the following?

Options:

A- Merchant silicon ASICs
B- Custom ASICs
C- Both

D- Arista switches do not use ASICs



Answer:

Question 7

Question Type: MultipleChoice

What is the VXLAN equivalent to a VLAN ID?

Options:

A-VTEP
B- VNI
C-VTP

D- VXLAN

Answer:

B



Question 8

Question Type: MultipleChoice

VMTracer requires which of the following?

Options:

A- Root-level access to vCenter.
B- Read-level access to vCenter.
C- Read/write-level access to vCenter.

D- VMTracer does not require a username on vCenter.

Answer:

A
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